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BEANRE SHCEE RS SN BIDERE

% R R& - MAKSTE BfL % B B ff ® #8 m o=
EZAEE 9, 020, 538
FEBERE 6, 644, 433
FEBERE 4,238,133
HEEXE 3,758, 678
REER 660, 101
1 REER 1.00 327,543 327,543
=
2 B&E 1.00 14, 361 14, 361
=
3 HAMER QEESZY) REE 2.00 84, 467 168, 934
=l
4 HMER1EESZY) Reat 1.00 149, 263 149, 263
=l
WA 3,098, 577
5 REBRE (FRRE) 10.00 192, 693 1,926, 930
=l
6 FKRAE 1.00 1,171, 647 1,171, 647
=l
EEEE 479, 455
- |E 262, 500
1 RIS 1.00 96, 600 96, 600
=l
8 PREHRE 1.00 96, 600 96, 600
=l
9 HBR|ME 1.00 69, 300 69, 300
=l
] 157, 395




RERREK SHCEEBRMENTLBLERE
% # ks - AR 3 BT & B @ #
10 R2ERMm 1.00 157, 395 157, 395
=
i 13, 560
[ 3- 1.00 13, 560 13, 560
=%
RR 46, 000
12 ¥BHRRE CRIRAE%) 1.00 46,000 46, 000
=
AEHREE 2, 406, 300
AEHEE 2,380, 300
fR AT 1,436,718
13 FCERARAT 1.00 1,436,718 1,436,718
=
RR 943, 582
14 F|EEMERK 1.00 943, 582 943, 582
=
e 26,000
RR 26, 000
15 EHERR CRIEFRAE) 1.00 26, 000 26, 000
=
RERE 2,376,105
RILTFE—LBAIR 2,376,105
RILFE—LBAIRE 2,271,105
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% g - KSR B H =2 B & &8 W =

16 A= %k 1.00 345,016 345,016
=

17 BMER QEERY) 1.00 148, 765 148, 765
=

KiEH=E 706, 228

18 BBETX bk 1.00 674, 403 674, 403
=

19 TILFE—LBIZE 0.02 1,591, 266 31,825
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[ 1,071,096

20 HEEIER 1.00 1,071,096 1,071, 096
=

EERE 105, 000

[ 60, 000

21 EHBERESR CRIE%EE) 1.00 60, 000 60, 000
=

AEE 45, 000

22 EIRAEE 1.00 45,000 45, 000
=




T SHCEEBRMENTLBLERE
% g - AKTiE Bifr 2 fiff & #B w E

EEUER 6,614,238
HRE 6,614,238 x 69.2% — 1,290 4,575,762
BIBELE 6,614,238 + 4,575,762 11,190, 000
E R 2,183,560 + 222,740 2,406, 300
EEAGE 2,183, 560
EEEE 222, 740
T DAt 2,183,560 x 53.85% ( 35% =+ (1 — 35% ) ) 1,175, 847
EHRIE 2,406,300 + 1,175, 847 3,582,147
—REBRES 3,582,147 x 53.85% (35% + (1 — 35%) ) — 1,133 1,927,853
AERER 3,582,147 + 1,927,853 5,510, 000
A ERHImE 11,190,000 + 5,510, 000 16, 700, 000
HBETEALE 16,700,000 x 10.00% 1,670, 000
ABERE 16,700,000 + 1,670, 000 18, 370, 000
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2 AEER B
£ g g - BAKTE B = B 5 = iw &
B2 A
A 2.00 54, 600. 00 109, 200
B 2 A
A 3.00 47,100. 00 141, 300
B 2 HEm
A 2.00 36, 900. 00 73, 800
AR £ 0%
% 1.00 324, 300. 00 3,243
& i 1EZ%EBEH - 1.00K 327, 543. 00 327, 543
ES:2
2 BE B
£ g g - BAKTE =R = B 5 = " &
REE 4 kN> 2L
B 0.10 3,595. 00 359/2.00H / 8H
B2 A
A 0.10 54, 600. 00 5, 460
B 2 A
A 0.10 47,100. 00 4,710
B 2 HEm
A 0.10 36, 900. 00 3,690
AR £ 0%
% 1.00 14, 219.00 142
& i 1EZ%EBEH - 1.00K 14, 361. 00 14, 361
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BIEHBE
A 2.00 25, 900. 00 51, 800
kFSwy 2tiE
B 1.00 31, 831.00 31,831|4.70H / 8H
AR £ 0%
% 1.00 83, 631.00 836
& g {E%8EA - 1.00ME 84, 467.00 84, 467
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4 [ g - BAKTE B = B B W OE 5 &
B 2 B 4E
A 2.00 36, 900. 00 73, 800
BlEWBE
A 1.00 25, 900. 00 25,900
gL—uftb3vs 478 2t/
B 0.50 42,173.00 21,086/5. 80H / 8H
SITTL—29L—r (BEARAREKR) | ChEMEED J8)25tHA
B 0.50 54, 000. 00 27,000 8H
MM 32O}
% 1.00 147, 786. 00 1,471
& g {EZHED - 1.00[H 149, 263. 00 149, 263
F5:5
2 REBAE (FBIRE) HZEP,
4 [ g - BAKTE B = B B W OE 5 &
& SR E AR
A 1.50 53, 200. 00 79, 800
FEMERES
A 1.50 41, 500. 00 62, 250
REL AJLE
B 7.00 5,000. 00 35,000
REE 4 kN> 2L
B 0.40 3,595.00 1,438/2.00H / 8H
MM EEAGEDY
% 10. 00 142, 050. 00 14, 205
& g {EZHED - 1.00[H 192, 693. 00 192, 693
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ES:6
2 FURAE HEED)
4 [ I - KT iE B = B %8 W OE 5 &
B = A
A 0.50 47,100. 00 23, 550
B 2 4R
A 0.50 36, 900. 00 18, 450
HEMF
A 1.50 34, 600. 00 51,900
BlEWBE
A 1.00 25, 900. 00 25,900
KEstEH
= 1.00 840, 000. 00 840, 000
REE S4 kY 2L
B 0.50 3,595.00 1,797/2.00H / 8H
Bk D 270PSE! 3~5tm
B 1.00 183, 787.00 183,787 8H
MM 2K GEEsEHLUY) 0%
% 8. 60 305, 384. 00 26, 263
& g {EZHED - 1.00[ 1,171,647.00 1,171,647
&5 :1
¥ BHTE HEED)
4 [ I - KT iE B = B %8 W OE 5 &
BIE EE AR
A 1.00 54, 600. 00 54, 600
B 2 A
A 0.50 47,100. 00 23, 550
B 2 4R
A 0.50 36, 900. 00 18, 450
& HJ {EZHED - 1.00[H] 96, 600. 00 96, 600
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ES:8
&% PRMRE HEED)
4 b I - KT iE B = B * 8§ W OE 5 &
BIE EE AR
A 1.00 54, 600. 00 54, 600
B 2 A
A 0.50 47,100. 00 23, 550
B 2 A 4E
A 0.50 36, 900. 00 18, 450
& HJ {EZHED - 1.00[H] 96, 600. 00 96, 600
E5:9
2 mIRRE HEED)
[ R - KT iE B = B * 8§ W OE 5 &
BIE EE AR
A 0.50 54, 600. 00 217,300
B 2 A
A 0.50 47,100. 00 23, 550
B 2 A 4E
A 0.50 36, 900. 00 18, 450
& HJ {EZHED - 1.00[H] 69, 300. 00 69, 300
%S :10
£ REERM XLy
4 b R - KT iE B = B * 8§ W OE 5 &
TEERMN FRP D 180PSZ!
B 1.00 156, 612. 00 156,612/6.00H / 8H
MM 2R DY%
% 0.50 156, 612. 00 783
& g 1EZ%BEH - 1.00K 157, 395. 00 157, 395
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&% RE 1X5Y
£ g R - KT B £ B B W OE iw &
W&
= 1.00 13, 560. 00 13, 560
& i 1EkEES - 1.00X 13, 560. 00 13, 560
&5 .12
2 EBHER  GA2EH) 1X5Y
£ g I - KT & B £ B B W OE " &
EBERERE
= 1.00 46, 000. 00 46, 000
& &t EkEES - 1.00X 46, 000. 00 46, 000
&5 .13
R FLERARAT 1X5Y
g I - KT & B £ B B W OE " &
FEHER (BRED)
A 3.00 64, 800. 00 194, 400
BEm (A)
A 3.00 57, 000. 00 171, 000
e (B)
A 11.70 47, 200. 00 552, 240
BER (C)
A 1.90 38, 400. 00 72, 960
BKifr&
A 7.70 33, 600. 00 258, 720
EEE EEAGEDY
% 5.00 1,249, 320. 00 62, 466
R HERE EEAGEDY
% 10. 00 1,249, 320. 00 124, 932
& &t EkEES - 1.00X 1,436, 718. 00 1,436,718
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&5 .14
2 IRESER 1Ky
4 [ IRE - WAKTiE By = B B W OE 5 &
B G&EH
A 4.20 64, 800. 00 272,160
e (B)
A 13. 60 47, 200. 00 641,920
BKifr&
A 0.60 33, 600. 00 20,160
EERARE EEAGEDY
% 1.00 934, 240. 00 9,342
& HJ 1EZ%EBEH - 1.00K 943, 582. 00 943, 582
&5 : 15
2 EBHER  GERT) 1Ky
2 [ IRE - WAKTiE By = B B W OE 5 &
EBERERE
= 1.00 26, 000. 00 26, 000
& HJ 1EZ%EBEH - 1.00K 26, 000. 00 26, 000
&5 .16
2 A= 1Ky
[ I - KT By = B B W OE 5 &
B T EED
A 2.00 54, 600. 00 109, 200
B 2 A
A 3.00 47,100. 00 141, 300
B 2 4R
A 2.00 36, 900. 00 73, 800
BlEBF
A 0.50 34, 600. 00 17, 300
MM 32O}
% 1.00 341, 600. 00 3,416
& g 1EZ%8EH - 1.00K 345, 016. 00 345,016




e SHCEEER NS RERE
&5 17
T ¢ WHIER QRS Y) ETD
2 # i - TR B B ¥ @ & W o= W%
AEHDA
A 2.00 25, 900. 00 51, 800
FSvY 2t1%
=] 3.00 31, 831. 00 95,493 4.70H / 8H
FEZES ESCON
% 1.00 147, 293. 00 1,472
a i EEER - 1.00= 148, 765. 00 148, 765
E5:18
T RET R - ETD
2 # i - TR B B ¥ @ & W o= W%
RBEHE 4 b2 2L
=] 1.00 3,595. 00 3,595/2. 00H / 8H
2 X EHRER
A 1.00 54, 600. 00 54, 600
AEHE
A 1.50 47,100. 00 70, 650
AR
A 1.50 36, 900. 00 55, 350
e
A 1.00 34, 600. 00 34, 600
HIE M FRP D 70PSZ!
=] 1.00 83, 291. 00 83, 291|8H
GNSS:EI I =B DGNSS
=] 1.00 25, 740. 00 25,740
TILF E— LEERIFEE 36~455kHz
=] 1.00 339, 900. 00 339, 900
R 2O
% 1.00 667, 726. 00 6,677
a i R - 1.00=K 674, 403. 00 674, 403




AR i SHeFEEEFEEMZERERE
iS5 :19
B TILFE—LBIR 1BHY (0.39km2)
4 b I - KT iE B = B %8 W OE 5 &
XEE SA hRv A
B 1.00 3,595.00 3,595/2.00H / 8H
BIE M FRP D 70PS#HY
B 1.00 83,291.00 83,291 8H
B & FE AR
A 1.00 54, 600. 00 54, 600
B 2 A
A 1.00 47,100. 00 47,100
B 2 4R
A 1.00 36, 900. 00 36, 900
HEMF
A 0.50 34, 600. 00 17, 300
GNSSRIfIEE DGNSS
B 1.00 25, 740. 00 25,740
TILTFE—LETERIFEM 36~455kHz
B 1.00 339, 900. 00 339, 900
MM 2R 0Y%
% 2.00 608, 426. 00 12,168
& i E%8ESN :0.39km 2 1,591, 266. 00 620, 594
ES5:2
2 IREEMER 1X=Y
[ R - KT iE B = B %8 W OE 5 &
B & FE AR
A 4.00 54, 600. 00 218, 400
B 2 A
A 10.10 47,100. 00 475,710
B 2 4R
A 9.10 36, 900. 00 335, 790
MM 2R DY%
% 4.00 1,029, 900. 00 41,196
& g 1EZ%EBEH - 1.00K 1,071, 096. 00 1,071,096
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2 EBEER  GA2EH) 1XHY
4 [ IRE - WAKTiE By B = B {f & B W OE 5 &
EBERERE
= 1.00 60, 000. 00 60, 000
& &t 1EkEES - 1.00X 60, 000. 00 60, 000
&5 :22
£ BIRAEE IEED)
4 [ IRE - WAKTiE By B = B {f & B W OE 5 &
E-AYUIRE
IiE 1.00 45, 000. 00 45, 000
& &t EkEES - 1.00X 45, 000. 00 45, 000




